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What is the greatest number which will divide 110 and 128 leaving a

remainder 2 in each case.
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28 42 84
27’18’ 54°

Find the HCF of
8 42 8

27°18’54 % 9. 42
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12 15 240 2158

Find the LCM of —, —, LCM( /)

12 15 24 35 56 H7 hﬁ((-??" 52,21
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If 55in0 4+ 12c0s0 = 13; find the value of 5cosecO + 12secO.
e 5sin0 + 12cos0 = 13; @ Scosecd + 12secO T A AT
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2 — c0s?0 = 3sinOcosO; 0°< 0<90°; find cot?0.
(2)— cos?0 = 3sinBcosO; 0°< 0<90°; cot?0 FTa hifTu,

\/a.,,l ord4 'b.i grz c.%\c@ or 1/2
: \L—. (026 Qe - Fena 120
((il@ 4= 3_@})@ %h@):‘;& + {L MTS - 2020
= (el ~(:’§3M© R

+ 3 8hg — | =Tbhe Cj:;‘

Cfae ( @@)




MISSION SSC MTS-2023 (TARGE_T BATCH)

What least value must be assigned to ‘*’ so that the number
451%603 Jis exactly divisible by 9?
HH W HA FT A iR forar v =ntEv arfe d@ear

451%603, 9 ¥ quUid: w“‘rm?
(@). %

MTS - 2019




MISSION SSC MTS-2023 (TARGE-T BATCH)
461 1 462 4 463 | 464 i givisible by:
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If m and n are positive integers and (m-n) is an even number,

then (m? — n?) will be always divisible by:

maﬁ'{nwm%\?ﬁ?(m n)qeswuw%?ﬁ
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Ifx+l

—1, then find the value of x*8 + x%6 + x69 4 x> 4 x24,

48 96 69 Y 24
?ﬁx/+x/ +x2 + x> +x2 T 99 AT hIeT
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A truck covers a distance 0@ in p where as a bus

GCosLC-
covers a distance of 33 km in — 1 hour Then the ratio of their

speeds is:

@m@ﬁwﬁssoﬁasﬁaﬁwm%w%ﬁww ra:)
33%6&@@%%?&3@%@%%%
a. 1:3 b.2:3 c.3:4 d. 1:4
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Three cars travelled distance in the ratio 1:2:3. If the ratio of the
time of travel i Is 3:2:1,then the ratio of their speed is:
T BRI 1:2:3 %Wﬁaﬁwaﬁl TS ATAT & THA T FTATT

3:2:1 2, d1 3TehT emancn?r%
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A group of men decided to do a work in 10 days, but S of them
became absent. If the rest of the group did the work in 12 days,
find the original number of men.
HATSFAT o Uk HE + Teh ShIW ohl 10 &A1 H WHTH i T U
foTa oeg 30 & 5 STty 81 Ty afe = U EHE A @ 12
et o wwe foRa 2 ar stefat foh arediares H&AT AT i

a.25men b. 20 men c. 40 men d. 30 men MTS - 2020
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16 men finished one-third work in 6 days. Find the number of

the additional men required to complete the job in the next 6
days. T == (I

-3 B
16 IS 7 6 foi 4 Teh w@f%ﬂﬁ6ﬁﬁﬁmq§
T % FoTU arrarvares arfafes gout i wa w1 Hifvm)
a. 6 men b. 16 men c. 10 men d. 15 men MTS - 2020
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. '. P C 4 20 A takes three times as long as B and C together to do a job. B
@ . é+ C = ',F})&@@— takes four times as long as A and C together to do the work. If
| all the three, working together can complete the job in 24 days,

B PrC= 51?-[’:) & then the number of days, A alone will take to finish the job is:
=7 5% A TorEt ST o1 S | B 3R C | 17 AT Afereh awa @iar 81 B, A
> 3R C Tt TR &1l & ® o0 aTet 99 | AR TAT 120k 999
L

T §1 A 1 e Aoy e R 5 T Rt 24 fa § qw e
> Tehd &, AT A 3Thel T 1 feha faat & oy
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In the following figure AB||CD and BE||FH, find £ZFHE.
feferaa strerfa & AB||CD 3R BE||FH, ZFHE FTa SHifSe:
1.110° 2.120° 3.125° 4.130° MTS. 2018
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The distance between two parallel chords of length 8 cm each in

a circle of diameter 10 cm is:

10 Tt ST TTET Uk I W TeAeh 8 THT TS hl 31 THTHIAR
Wﬁ%aﬁﬂiﬁgﬁ%z

1.6 Sy 2.7 cm 3.8 cm 4.5.5 cm
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In a three digit number; the digit at unit’s place i@) of the
digit af ten’s placs. The digit at ten’s place is 1 more than the

digit at hundred’s place. If the sum of the digits at ten’s place
and at hundred’s place is 15; find the number.

1T 3Teh I WEAT | ZehTS oh TAT ohT 37eh TS oh LAT oh 3ieh &l
75% &. TETS o TATT KT 3Teh Tehe o TATT & 3ieh A 1 Aforew &, afe
TETS o TUATH o 31k R RS oh TATH oh 3k HTANT 15T AT AT
AT T 22 MTS - 2019
(a). 343 (b). 443 (¢). 768 (d). None of these
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